www.ErForum.Net Page 1

DMEC )& SClectrical “Paper-1

Question Booklet Series :- Booklet Code No. :- 547313
5 g RO o A gRcE B HEAT - ?
Candidate must fill the above number

Sxam held on 03-08-2074 et inthe OMRShee

DO NOT OPEN THIS BOOKLET UNTIL TOLD TO DO SO
< YR A SIRY P W 8

e ot o0 foogg - Code O4TASECLO2 (B=I) ™rei i v wen: 120

Roll No. : OMR Answer Sheet No.
HTHD ... I 9IRS Hel:
Name of the Candidate (in capital letters) :

D A :
Candidate's Signature Invigilator's Signature
vl 3 ERR 74 Friws 3 swE

IMPORTANT:— Read the following instructions carefully. Do not mark answers on the question booklet,
otherwise you may be debarred from the selection process.

1. | Before commencing to answer, check that the Question Booklet has 120 guestions. Each Question Booklet will
be in different series (combination of booklet code no. and series). You must write correct Booklet Code No.
and Question Booklet Series on your OMR Answer Sheel. Fuither check that there is no misprinting,
overprinting and/or any other shortcoming in it. If there is any shortcoming in the question booklet, intimate
the same to your room invigilator and take a fresh question booklet. No complaint in this regard shall be
entertained at any later stage.

IMPORTANT NOTE: The OMR Answer Sheet will be evaluated with a combination of question booklet
series and booklet code no. hence you must write correct question booklet series and booklet code no. Any
mistake in filling any of them will lead to invalidation of your OMR Answer Sheet. Also in case of non filling of
question booklet series and booklet code no. the OMR Answer Sheet will not be evaluated and its sole
responsibility lies on the candidate.

2, There shall be negative marking. 1/3 mark will be deducted for wrong answer. Each question carries
equal mark. Also refer OMR Sheet for detailed instruction.

3. | Ask invigilator to sign on your admit card. If the same is not got signed by you, your candidature shall be
liable to be rejected.

4. | This is an objective type test in which each objective question is followed by four responses serialled (1) to (4).
Your task is to choose the correct/best response and mark your response in the OMR Answer Sheet only as
per the instructions given and NOT in the Question Booklet.

5. | Use Blue/Black Ball Point Pen for all your work on the OMR Answer Sheet. The ovals on the OMR Answer Sheet
are to be completely filled by Blue/Elack Ball Point Pen only. ANSWERS ONCE GIVEN CAN NOT BE CHANGED.
6. | DO NOT scribble or do rouah work or make any stray marks on the Answer Sheet. DO NOT wrinkle or
fold or staple it.

7. | Use of Calculators, Slide rules, Mobiles, calculator watches or any such devices and any other study/reference
material is NOT ailowad inside the examination hall.

8. | Rough Work is to be done in the blank space provided in the Question Booklet, not on the OMR Answer Sheet.
No other paper will be allowed/provided for rough work. '

9. Return the complete Question Booklet and OMR Answer Sheet to the invigilator on completion of the test. Do not
take this Question Booklet or any part thereof or OMR Answer Sheet outside the examination room. Doing so is
a punishable offence.

10. | Take care that you mark only one answer for each question. If more than one answer is given by you for any
question, the same will not be evaluated. Cutting/overwriting the answers are not allowed. Further question
paper is bilingual (Hindi/English). In case of any variation in Hindi version, English version will be taken
as final for evaluation purposes.

Rt % arge s 7 (Back cover) W Ram r 21

www.ErForum.Net www.ErForum.Net

www.ErForum.Net



www.Eerrum.Net

10.

www.ErForum.Net

APTITUDE

Who became the first Indian to win three medals in
successive ISSF shooting world cup held recently?
(1) Abhinav Bindra (2) Gagan Narang

(3) UifiRai¥ (4) Vijay Kumar

Recently, the plan to build the world most
powerful and largest telescope ‘ATLAST' to
analyse the environment of other planets and to
track the existence of aliens life, was unveiled.
This is planned by:

(1) FKA&RKA
(3) ISRO

(2) ESA

) (NASA

Who bagged the FIDE World Rapid Chess
Championship title recently held in Dubai?

(2) Vishwanathan Anand
(4) Viadimir Kramnik

(1) Fabiani Caruana
() (agnus Cayisef

Who won the world food prize for the year 20147

(1) Dr.SanjayaRajarani (2) Dr. Aditi Mukheriji
(3) Dr. Charity KawiraMutegi  (4) Dr. Norman Borlaug

India’s first ‘one stop crisis centre’ for women
who are victims of violence named ‘Gauravi’ was
launched recently by ......... in ........ 4

(1) Film Actor Amir Khan, Bhopal’

(2) Film Actor Shahrukh Khan, Mumbai

(3) Film Actor Amitabh Bachhan, Allhabad

(4) Film Actress Hema Malini, Agra

The world first electric plane named E-Fan first
flight was carried successfully recently in:

(1) USA. (2) UK.
(3) Germany (4) Lgraggeﬁ

Which one of the following plants yield bio diesel
or bio fuels?

(1) Hevea brasiliensis
(3) Juniperus Verginiana

) atopha Curcag
(4) Parthenium orgenatum

‘The Argumentative Indian’ is a book written by

(1) (Amartya Serl (2) Chetan Bhagat
(3) Vikram Seth (4) Arundhati Roy

Nanda Devi Biosphere Reserve is located in
which Indian state?
(1) Arunachal Pradesii
(3) Manipur

(2) Assam
(4) [Uttarakhand]

Which of the following is wrongly matched:

(1) Hirakud - Mahanadi

(2) Pochampad - Godavari
(2) Nagarjun Sagar - Cauvery
(4) Bhakra Nagal — Sutlej

1.

10.
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(1) FKA & RKA (2) ESA

(3) ISRO (4) NASA

ot Tw @ ¥ REd g=d & @9Pa FIDE R We
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(1) EEFT FEeTET (2) favaame o=

(3) 9 FREw (4) =HR FHD

af 2014 3 fog BT @mg qEER R sar?

(1) @t gear T (2) et s
@) 2. ARE FAw g (4) 2. A0
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H
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(1) e - T

(2) IR - AeEd
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(4) ¥Eq A - G

[617313]

Page 2

www.ErForum.Net



www.ErForum.Net

1.

12

13.

14.

15.

16.

17.

18.

19.

www.ErForum.Net

Who has recently won 2014 Pultizer prize in the
poetry category:

(1) Gobind Beharilal
(3) Vijay Seshadri™

(2) Jhumpa Lahiri
(4) Siddharath Mukherjee

Clean water would have BOD value of less than:

(1) 5'pm’ (2) 19 ppm
(3) 25 ppm (4) 50 ppm

Identify the Shakespearean play in which we have
a death by poisoning:

(1) AsYou Like It
(3) The Merchant of Venice

(2) (Hamiet
(4) None of these

Who will have its leader elected as leader of
opposition and given the status & facilities to the
rank of cabinet ministers?
(1) The opposition party with the largest number of MPs
(2) [The opposiion party with the largest number of MPs
and whose number s at least 1/10 of the total house
(3) The opposition party with the largest number of MPs
and whose number is at least 1/5 of the total house
(4) None of the above is correct

Which one of the following is most likely to occur
if the Reserve bank of India lowers the Cash
Reserve Ratio?

(1) An Increase in aggregate savings
(2) Arise in Budget Deficit

(3) ATisé in'aggregate money supply’
(4) Arise in the use of credit cards

The Reports of the comptroller and auditor
General of India relating to the accounts of the
Union shall be submitted to:

(1) fThe President of India’

(2) The Prime minister of India

(3) The Speaker of the Lok Sabha

(4) The Finance Minister of India

One star is going away from the Earth. Then the
observer on the Earth will experience:

(1) Decrease in wave length

(2) lncrease in wave !enati

(3) No change in wave lenglh

(4) None of these

Which one of the following seismic wave is the fastest?
(1) [P Wave (2) SWave

(3) LWave (4) RWave

Who among the British Generals defeated Peshwa
Baji Rao il

(1) Autram
(3) Elphinstone

-----

(4) Kitchner
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Which one is not written by Munshi Prem Chand:

(1) Rangbhoomi (2) Prem Pachisi
(3) ﬁfiéhkanyaj (4) Kayakalp

A B is a tangent to the circle. The radius of the circle
is 2 cm. Then the area of the shaded portion is:

A B
>

() gzl

n
(3) 4-3

n
@ -2
(4) None of these

Two cylinders have the same volume. The heights
are in the ratio of 1 : 2, then the ratio of the radii
will be:

(1) 2:1 2 1:2
@ 1:42 @ §z

If the ay, part of 49 is 7 and by, part of 63 is 9 and cw
part of 112 is 16. Then which of the following is true:

) abc=% () Bbc=a

@) abc= 4—19 (4) None of these

x% of x is the same as 10% of:
m & @ %

3
(3) :_0 (4) None of these

P QR S T are five boys. Given that P is taller than
Q, R is shorter than P, S ig taller than T but
shorter than Q, the tallest boy is:

o B! @ Q
(3) R (4) None of these

Five persons are standing in a queue. One of the
two persons at the extreme end is a professor and
the other is a businessman. An advocate is
standing to the right of the student. An author is to
the left of the businessman. The student is
standing between the professor and the advocate.
Counting from the left the author is at which place:

(M 1° (2 2
@ 3° (4) @7
P is standing to the east of Q at a distance of 4

Km. P stands still while Q goes north for 4 Km. In
which direction must Q now look to see P:

(1) East (2) ‘South East

(3) South (4) South West
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3 TR & wade @3l B JEEd @ € & AuS 2
fraredt SPEt od tsaRe @ T § wer ¥ &g @ e

T AeF B oW W R
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28.

If AM=3, ARE=4, and NEVER=8, then

“INDIA IS A GREAT NATION" =:

(1) 32 (2) 29

(3) r28,1 (4) None of these

DIRECTIONS: Complete the following series.

29.

30.

31.

32.

33.

34.

35.

36.

www.ErForum.Net

AZBZ_ABA_A_B_BA

(1) AZBZ (2 BZAZ
©) [BZ2ZZ) @) ZAZZ

If one side and one diagonal of a rhombus are5cm
and 8 cm respectively, then its area (in cm ) is:

(1 22 @ 20

(3) 24 (4) 25

One acute angle of a right angled triangle is
double the other. If the length of its hypotenuse is
10 cm, then its area is:

1) lzicrn2 (2) 25cm’

@) BEEemd (4) None of these

The average age of the boys in a class of 30 boys
is 14.5 years. What will be the average age if 10
new boys come whose average is 15.2 years, and
joins them?

(1) 15.5years (2) fl4.68'yéér§

(3) 16.25years (4) None of these

In a certain code language ‘PROPORTION' is
written as ‘PORPRONOIT’. How is ‘CONVERSION’
written in that code language?

(1) VNOCERONIS (2) VNCORENDIS
(3 ygocnenong (4) VNOCREIONS

Three men or eight boys can do a piece of work in
17 days. How many days will two men and six
boys together take to finish the same work?

(1) 11days (2) 17 days

(3) [12days (4) None of these

Twelve solid spheres of the same size are made
by melting a solid metallic cylinder of base
diameter 2 cm and helight 16 cm. The diameter of
each sphere is:

(1) 2
(3) 4cm

There are some girls and buffalos at a place. If
total number of heads is 15 and total number of
legs is 46, then how many girls and how many
buffalos are there?

(1) 8gifs and 7 buffalos  (2) 9 dirls and 6 buffalos
(3) 7 nirls and 8 buffa‘l_é} (4) 6 girls and 9 buffalos

(2) 3cm
(4) 6cm

28.

g% AM=3, ARE=4, T§ NEVER=8, T
“INDIA IS A GREAT NATION"” =:

(1) 32 (2) 29
(3) 28 (4) T & K T

i P e @ g0

29.

30.

31.
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33.

35.

36.
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AZBZ_ABA_A_B_BA

(1) AZBZ (2) BZAZ
(3 BZZZ (M ZAZZ
AR T N @ o O us G B 5 od 8 &,
2, o ouw daww (.2 )%:
(1) 22 (2) 20
(3) 24 (@) 25
T T F A TR OB G 8 AR
farpot it 10 it aammm
(1 Zom? (2) 25cm?
3) z—:f 3em’ @) T & B T
30 W%l O 0 T A olwa g 14.5 af ¥ Sfew

Y & AR 10 T 99D IR o @ i A ¥

et oftea orrg 15.2 o & @
(1) 155 af (2) 14.68 T
(3 16.25 T8 (4) T ¥ o T

% [REg $1S ‘PROPORTION’ 3 ‘PORPRONOIT’
Rr@r oar & @ 9@ T s ¥ ‘CONVERSION’ 3t
39 frE?

(1) VNOCERONIS (2) VNCORENOIS
(3) VNOCRENOIS (4) VNOCREIONS

d= =i a1 9 e Rt B @ 17 R # s
¥ @ = o B 793 & T o B B QU B A
o Re @7

(M 1= (2 17 R=

(3) 12 R= (4) ¥ F B T

s 39 gfas Rvet, R omR =™ 2 ¥, ©
Sad 16 ¥, B, 3 WEK @ @ IERX B 12 W
M T A §1 TS N B AW B
(1) 2 & (2) 3 .
(3) 4 ¥ (4) 6 ¥,

O W I g9 aehedl o & ¥ AR Rl @ g wew

%q;ﬁﬂﬁamwaﬁimamqam
7

(1) 8 wefwi w7 4§

(3) 7 Wil ©d 8 4

2) 9 WehHdl @ 6 ¥
(4) 6 wefHdr wd 9 ¥
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37.

38.

39.

40.

4.

Given two positions of the dice as being.

When 2 is at the bottom which number is at the top:

(1) 5 2) /47
@) 1 4) 6
Simplify: e T T

(1 1 @0

(3) -1 (4) None of these

The average of 5 consecutive numbers A, B, C, D
and E is 48. What is the product of A and D?

(1) 2300 (2) 2204

(3) 2208 (4) 2259

Among five friends—Brijesh, Feroz, Jai, Kamal and
Vinod each having a different weight. Feroz is
heavier than only Jai. Brijesh is heavier than Feroj
and Vinod but not as heavy as Kamal. Who is the
third heaviest among them?

(1) Kamal (2) Brijesh
(3) [Vinod? (4) Data inadequate

Select the suitable altemative to complete the series.
2401,49,7; _ , 36, 6:
(1) f1296]

(3) 7776

@) 216
(4) 1378

DIRECTIONS: (Question No. 42 & 43) In a certain code
language—-

42,

43.

45.

www.ErForum.Net

i. 'Coddex nom' stands for ‘banana is sweet’

ii. 'Zip dex nux' stands for ‘apple is good'

ii. ‘Cod nux elp’ stands for ‘banana and apple' and
iv. ‘pareb nom’ stands for ‘oranges are sweet'.

42,
Which word in that language stands for ‘apple’.
(1) Elp (2) [Nut
(3) Zip {4) None of these
What does ‘Zip’ stand for? 43.
(1) Apple (2) And
(3) [Good? (4) None of these
How many times from 4 AM to 4 PM the hands of 44.
clock are at right angles?
(1) 24 (2) 20
@) [22) 4) 18
If in a certain code language ‘BALE’ is written as  45.
'+ + & x’ and ‘SKIP' is written as ‘- @ ¥ %'. How is
‘LIFE’ written in that code?
(1) @++V 2 V%T&
(3 “&%S7 4) @&x+

[A-5]

37.

38.

39.

40.

41.

iR 3 Rafel 39 W & ®

o9 2 a9 & e ar FE-a ge 9 oy anf:

(1 5 (2 4
@) 1 4) 6
W ﬁ: 265)(270 - 297x238
m 1

(2 0
(3) -1 @) % § o 7
5 %% densl A, B, C,D U6 E @1 3tqd 48 ¥1 A
Td D F TG FT Em?
(1) 2300 (2) 2204
(3) 2208 (4) 2254
dig BEt @ - B, i, 9, 3 o R d
Y% 3 9K B & B0 f9w o7 @ Wi @1 B
R od Ble @ il @ afeT sae @ Wl S R

I dea g=d wrll O 87
(1) 79 (2) foow
3) FEE (4) o i

Prfofea o & 30 Ry & g1 o 3 & oof & @

2401,49,7; __, 36, 6:
(1) 1296 (2) 216
(3) 7776 (4) 1378

P (99 g 42 T 43) @ PftEa S wmr #-

www.ErForum.Net

i. ‘Cod dex nom’ &I @94 & ‘banana is sweet’

ii. ‘Zip dex nux’ T Ar9d B ‘apple is good’

ii. ‘Cod nux elp’ & @94 ¥ ‘banana and apple’ T
iv. ‘parebnom’ @ arad & ‘oranges are sweet’

I T & P-A1 955 ‘apple’ & R wgw Rear T &

(1) Elp (2) Nux
@3) Zip @) T & I 78

Zip’ Foud R sy R T @7

(1) Apple (2) And

(3) Good @) T & 8 T8

4 9 A 4 99 3 79 o) i gE Bl R T W
ahf?

(1) 24 2) 20

(3) 22 (4) 18

R0 Pifte S5 war § ‘BALE’ @t ‘+ + & x” T ‘SKIP’
B —@ % Rrar s ¥ LIFE’ @ ot @ ¥ 3
fovat?

(1) @++Y
@) x&%$

2 V%T&
4 @&x+
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53.

www.ErForum.Net

Page 7

TECHNICAL APTITUDE

In a three-phase induction motor, the rotor field 46.
runs at the following speed with respect to the
stator structure:
(1) -Atsynchronous speed in the direction-of stator field"
(2) Ata slip speed in the direction of stator speed
(3) At synchronous speed in a direction opposite to
that of stator field
(4) Atzero speed

VIf is maintained constant in the following case of 47-

speed control of induction motor:

(1) Below base speed with voltage control
(2) ‘Below base speed with frequency control
(3) Above base speed with frequency control
(4) None of these

In a double-cage induction motor, which of the 48.

following is not true:

(1) Resistance-of outer baris less

(2) Leakage inductance of outer cage is less
(3) Outer bar has smaller cross section

(4) None of these

The voltage regulation of a transformer at full load 49
0.9 p.f. lagging is 5%. For a full load at 0.9 p.f.
leading, it will :

(1) Remain the same

(2) Become negative

(3) "‘Reduceand may even become negative

(4) Increase

For which of the following pair of machines, the 50
stator and its winding can be of the same type:

(1) Universal motor and stepper motor

(2) D.C. motor and hysteresis motor

(3) Hysteresis motor-and reluctance motor

(4) Induction motor and D.C. motor

In which of the following amplifier configurations, 51
the power gain is the largest?

(1) *‘Common-Emitter- (2) Comirion-Collector

(3) Common-Base (4) None of these

Transformer core is laminated in order to: 52.
(1) Decrease copper losses

(2) Decrease entire core losses

(3) "Decrease only eddy current 1osses

(4) Decrease only hysteresis losses

For increasing the range of voltmeter, one should
connect a:

(1) High velus resistance in series with voltmeter.
(2) Low value resistance in series with voltmeter

(2) High value resistance in parallel with voltmeter
(4) Low value resistance in parallel with voltmeter.

[A-6]
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& O B gl 3RO AieT R T @ a0y 7 U
Pivs o 4 fBpa IRy W e ¥

(1) | Fies #t Rar & Y 9%

(2) R A @ R A Ty )

(3) RN B & fwda Rw § geis 15 00

(4) g9 Ty W

o Aex A iy Prdsor A Bt @ Ba Rafy F
VIf B T T@T S 8

(1) dear FeEr afta o iy © &

(2) gt s afRT omr i & #w

(3) emafr Frdser afea omw W 6 ot

(4) T § I 7

fpet FaRerdt Bxor et & Frewifea @ 29 a9 78 &
(1) aeq Bg ) URRYHT F9 &

(2) a7 RS @1 oo e 9 8

(3) AT B H A FE FH &
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To conduct Sumpners test on a transformer:
(1) Only one transformer is sufficient

(2) Twoidentical transformers-are'neededy

(3) Two un-identical transformers are needed
(4) Atleast three transformers are necessary

Unit of reactive power is:
(1) Watt
(3) Ware

Synchronous Generator is a source of:

(1) Real Power

(2) ‘Reactive power

(3) Apparent power

(4) Both real and reactive power

(2) Kilo watt
(4) Volt ampere

In an induction motor, if the air gap is increased,:
(1) Speed will reduce

(2) Efficiency will improve

(3) "Power factorwill be lowered

(4) Breakdown torque will reduce

A DC shunt motor is running at 1200 rpm, when
excited with 220V dc. Neglecting the losses and
saturation, the speed of the motor when connected
to a 175 V supply is:
(1) 70rpm

(3) 1050 rpm

(2) 900 rpm

() [Nore of these?
The function of oil in a transformer is to provide:
(1) dnsulation'and cooling/

(2) Protection against lighting

(3) Protection against short circuit

(4) Lubrication

The ratio of starting torque to running torque ina
synchronous motor is:

(1)

(3) Two

(2) One
(4) Infinity

A Q- meter measures:

(1) Loss in a capacitor

(2) Frequency

(3) Accurate value of electrical quantity
() Propertes ofthe i/

The hysteresis Motor:

(1) Has a D.C. winding on the rotor

(2) Rotoris'madeout of iard magnetic material
(3) Has squirrel-cage winding on the rotor

(4) |s not-self starting

Counterpeise is used for:

(1) Transfcrmer earthing

(2) "Réducing transmission tower footing resistance’
{(3) Generator earthing

{4) Motor earthing

55.

56.

58.

59.

60.

61.

62.

63.
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64. A single-phase ac regulator is used to convert:

65.

66.

67.

68.

69.

70.

7.
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(1) .qutage ~to -va_ri_gble*xmagnitude‘:aﬂ.
joltage of same frequency>

Fixed ac voltage to variable frequency ac voltage
of same magnitude

Fixed ac voltage to variable frequency ac voltage

through dc link

Fixed ac voltage to variable magnitude variable

frequency ac voltage

)
©)
(4)

In a 3-phase voltage source inverter used for
speed control of induction motor, anti-parallel
diodes are used across each switching device.
The main purpose of diodes is to:

(1) Protect the switching devices against over voltage

(2) Provide path for freewheeling current

(3) Allow the motor to retum energy during regeneration.

(4) Help in switching off the devices

The pressure coil of a wattmeter consists of:
(1) More numberof turns of fine wire:

(2) Less number of turns of fine wire

(3) Less number of turns of thick wire

(4) More number of turns of thick wire.

Electrostatic instruments are suitable for the
measurement of:

(1) sacanddcvoltages
(3) dcvoltage and current

(2) ac voltage and cument
(4) acand dc currents

Schering bridge is used to measure:
(1) wDieleetric’loss- (2) The inductance
(3) Low resistance (4) Mutual inductance

The ratio error in current transformer is due to:

(1) Power factor of primary.

(2) Wattless component of the current in the primary
(3) wExciting current,

(4) Leakage flux.

The major cause for creeping in energy-meter is:
(1) Overcompensationfor friction

(2) Vibrations

(3) Stray magnetic fields

(4) Excessive voltage across the potential coil.

A 3-phase synchronous motor, connected to
infinite bus, is operating at no load at normal
excitation. The field excitation of the motor is first
decreased tc zero and then increased in the
reverse direction. The armature current of the
synchronous motor will:

(1) Remain constant.

(2) First decrease and then increase.
(3) increase continuously»

(4) Firstincrease and then decrease.

64. THA F ac TN [HA wRakia F 3 R w@r B

65.

66.

67.

68.

69.

70.

71.
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72. If a resistance is inserted in the rotor circuit of a 72

73.

74.

75.

76.

77.

78.

www.ErForum.Net

slip ring induction motor, then compared to direct

line starting:

(1) Both the starting current and torque reduce

(2) Both the starting current and torque increase

(3) The starting current reduces.but-starting torque,
‘{ncreases

(4) The staring current reduces but starting torque
remains same.

Starting torque can be obtained in the case of a

single phase induction motor with identical main

and auxiliary windings by connecting:

(1) A capacitor across the mains

(2) A capacitor in series with the machine

(3) A-capacitorin-series with the-auxiliary winding,

(4) Equal value capacitors in series with the main
and the auxiliary windings

Armature shunting method of speed control of dc
shunt motor is preferred over armature resistance
method due to:

(1) “Betterspeed regulation™

(2) Less loss in external resistance

(3) Simplicity in control circuit

(4) Reduced cost of controller

Distribution transformers have core losses:

(1) More than full load copper losses

(2) Equal to full load copper losses

(3) tessthanfull'loadcopperlosses

(4) Negligible compared to full load copper losses.

Hollow conductors are used in the transimission
lines to:

(1) Improve heat dissipation
(2) Reducercorona loss»

(3) Reduce skin effect

(4) Reduce the line inductance

In a junction transistor, the doping level of
collector region is:

(1) Higher than emitter region

(2) Lower than base region

(3) s higher than base region but lower than efmitter region
(4) Independent of the doping of base and emitter regions.

The equivalent resistance of the circuit is:
2000

1000 2000

(1) 2009
(3) BOOT

(2) 400Q
(4) 1600 Q

73.

74.

75.

76.

77.

78.
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81.

82.

83.

84.

85.

86.

87.

88.

89.

79. The purpose of a coupling capacitor in an 79.
amplifier is to:
(1) Control the output
(2) Provide impedance matching
(3) Provide-DGiisolation betweer amplifierand-load
(4) Increase the bandwidth
A circuit requires a capacitor of 100pf, 25V. The 80.
capacitor can be:
(1) Paper capacitor (2) ~Electrolytic.capacitor
(3) Ceramic capacitor (4) Any type of capacitor
A static memory stores its data in: 81.
(1)~Flip=flops (2) Inductors
(3) Capacitors (4) Resistors.
Which of the statements about the force between 82.
two charge is true?
(1) Unlike charges repel each other
(2) Like charges attract each other
(3) Nﬁo force exists between two unlike charges
4) E\To‘”rié'of repulsion exists between two Iikelglwrg&e
With the increase in the cross sectional area of 83.
the conductor, the value of resistance:
(1) Increase (2) Remain same
(3) [Decrease’ (4) None of these
With the increase in the temperature the 84.
resistance of copper:
(1) Increase 2 Bg;ome zero
(3) Remain constant 4) @éﬁr-eé's'e‘"
The unit of electric energy is: 85.
(1) Watt (2) Kilo-watt
(3) Kilo-watt-hotiry (4) Joule
In Series LCR circuit, at resonance: 86.
(1) Current is maximum and power factor is zero
(2) Current is maximum and pouiar factor 1= nity’
(3) Current is minimum and power factor is unity
(4) None of these
To neglect a current source, the terminal across 87.
the sources are:
(1) [Open-circuited’
(2) Short-circuited
(3) Replaced by some resistance
(4) Replaced by capaciiance
The generator which gives dc supply to the rotor is  88.
called:
(1) Converter (2) [Exciter
(3) Inverter (4) Rectifier
The deflection torque can be produced by: 89.
(1) Gravity control (2) Sp_l:igg E_oﬂrol
{(3) Air friction (4) (Magneticallﬂ
[A-10]
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100.

101.
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Carbon brushes are used in electric motors to:
(1) Brush off carbon deposit on the commutator
(2) Provide a path for flow of currenf’

(3) Prevent overheating of armature windings

(4) Prevent sparking during commutation

LVDT is a:

(1) Displacementtransducef (2) Velocity transducer
(3) Acceleration transducer  (4) Pressure transducer

Base impendence of the power system is given by:
1) (Base KV)2x1000 @ (Base KVA)? x 1000
=Base KVA' Base KV

(Base KVA)?
Base KV

(3) (4) None of these

The process of converting a.c. into d.c. is called:
(1) Amplification (2) Modulation

(3) Rectification (4) Factorization

One advantage of transformer coupling in
transistor amplifier is that:

(1) It provides excellent frequency response

(2) Itis simple and less expensive than others

(3) Low power supply may be used

(4) High efficiency and high power output is obtained

A single binary digit is called:

(1) Byte (2) B
(3) Data (4) Logic
Kelvin is the Sl unit of:

(1) Time
(3) Temperature:

(2) Current
(4) Light intensity

Which of the following is a vector quantity:
(1) Volume (2) Speed

(3) Denisity* (4) Acceleration
According to Ohm's law:

(1) The voltage is constant to current

(2) Thevoltage is proportional to current,

(3) Voltage is inversely proportional to current
(4) The voltage is proportional fo resistance

The unit of reluctance is:

(1) Ampere-turn
(3) "Ampere-tuiniwebier

{2) Ampere-turn/meter
(4) Itis dimensionless

The minus sign in the expression, e= ":::w is due to:

(2) Thumb's rule
(4) sLenz's:law:

(1) Fleming's rule
(3) Faraday's law

When X, is equal to Xc then:
(1) 2=R> (2 Z=Xc
3) Z=X. (4) None of these

91.

92,
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94.
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102. The following statements associated with Buchholtz
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108.

109.

110.
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relays is not true.
(1) ltis a gas actuated device

(3) ltis placed between the transformer tank and the
conservator

It causes alarm for minor fault and tripping for
major fault

.

S @ current operativ gevice.

(4)

Electrical fault between two windings of same phase
of a generator having double star winding can be
detected by the following protection in a generator:

(1) Short circuit protection  (2) Earth fault protection
(3) ‘IntertumFault-protection (4) Over voltage protection

Induction generator is stable at a:

(1) Speed below synchronous speed
(2) Speed above synchronous'speed
(3) Speed equal to synchronous speed
(4) None of these

Corona loss is less when the shape of conductor is:
(1) Circuar (2) Flat
(3) Oval (4) Independent of shape

Which of the following combination of 3-phase
transformers can be successfully operated in paraliel:
(1) -A<Y-andA=Y= (2) Y-Y and A-Y

(3) A-Aand A-Y (4) Y-Aand A-A

For very low speed and high power applications,
the best suited ac motor is:

(1) Slip-ring induction motor

(2) Squirrel cage induction motor

(3) AC commutator motor

(4) Synchronous motor:

By mistake voltmeter and Ammeter are connected
as shown in the figure below:

supmy Load

(1) Only voltmeter will burn away

(2) Only'ammeterwill bum away

(3) Both voltmeter and ammeter will burn away
(4) None will burn away

A 100 tum coil has ani inductance of 6 mH. If the
number of tums is increased to 200, all other
quantities remaining the same, the inductance will be:
(1) =24'mi" (2) 12mH

(3)3mH (4) None of these

A light emitting diode (L.E.D.) can be made from:

{1) Phosphorescent material (2) Germanium
(3) Silicon (4) Gallium-arsenid®

102.
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A radio transmitter is an equipment:

(1) For receiving R.F. signals

(2) Forgenerating'modulated radio frequency waves
(3) For amplifying R.F. signals

(4) For generating carrier waves

Negative feed back:

(1) Increases the gain of amplifier

(2) Decreases the gain of amplifier

(3) Increase the gain and band width of the amplifier

(4) Decreases the gain and increases the band widt?
‘the amplifier ~

Three phase step-up transformer installed at

power house, just before commencement of

transmission line, have:

(1) DELTA-DELTA connection
(2) STAR-STAR connections
(3) AR=DELTA connecti
(4) DELTA-STAR connections

When biased correctly, a zener diode:

(1) Acts as a fixed resistance

(2) Has'a constant voltage across:ita

(3) Has a constant current passing through it
(4) Never overheats

Induced draft fans are located at:

(1) Thetop

(2) The bottom

(3) Inthe middle part

(4) Can be anywhere, in the cooling tower

In a thyristor, the magnitude of anode current wili:

(1) Increase if gate current is increased

(2) Decrease if gate current is decreased

(3) Increase if gate current is decreased

(4) Notchangewith-any variatiorin gate current,

Brass is an alloy of:
(1) “CopperandZinc
(3) Zincand Tin

(2) Lead and Zinc
(4) Tinand Lead

When cells are arranged in parallel:
(1) Current capacity increases:

(2) Current capacity decreases

(3) The e.m.f.increases

(4) The em.f. decreases

A capacitor opposes:

(1) Change in current

(2) Changeiin voltage

(3) Both change in current and voltage
(4) None of these

AC supply system compared to DC supply system 120.
has the advantage:

(1) Power factor (2) Reactive elements

(3) Voliage drop (4) -Lowcostof switchings

111.

112.

113.

114.

115.

116.

117.

118.

119.

[A-13]

www.ErForum.Net

Page 14

WA gl & ST @

(1) RF. g3l & o< 1 &

(2) rgfer A gy T H I A 3 el
(3) RF. §3df & ToelieE & & Rl

(4) TEF TN B I FA B KA

HOMTH AT

(1) TOREET @ wfr Tom &

(2) TOEHET B RT FH FHEA 6

(3) TuREER @ afed od Avw B e ¢

(4) TURAEER i FH B & ¢ ave g qon &

e RY-o17 gieerR 7, ot dfa} med § wia B
o ¥ R A @ e o9 @ 9% ', o ¥
(1) S-SR AT
(2) W-WX o=y
(3) WR-3FT AU
(4) TW-WR =T

e T @ AW 2 | & R s
(1) wd w3 &9 F Fd F @
(2) Id C-U RET Qe B @

(3) e RaT g vare A B

(@) 0 ¥ e 7@ a

iR = 39 Raa &Rt §:

(1) i T

(2) o= 9

(3) " W &

(4) i et F A A & w8

gRRET 7, TS 4)1 3 96
(1) T IR AT 9 Ted R
) TN R AT g v ®
(3) M ok AT gy g B
@) T g 3 Bl aRade § g8 T S=am

dioe Reaa g &
(1) @™ qd ST (2) & @ =
(3) & o A (4) 9 @@ |9

o9 PR GEFFR T Faked # o € ar
(1) ORT &HaT TEdt 8

(2) R EHaT gl B

(3) em.f. T &

(4) emf. T &

s Siftey Ay S &

(1) & ¥ qfada

(2) e 7 o=

(3) T wd areear dFF ¥ aREd

(4) T q I8 T

D amyff @ @ geem A AC Jmyft = F @ ® B
(1) 9fF T (2) "t o

(3) e U (4) e @ A

[517313]

www.ErForum.Net



www.Erl_Zorum.Net Page 15

Temy: PR FE g W@ oo S S O SERe ¥ T @ ofen e SRR & ST e dR S
1. | o ot Rrae O FOT @ e S 99 YRaH @ Wel-siin ofrg a0 d, @ & B g 120 5 & e we g @
el R 2t (ve-gRee @ den w SE-QRae R @ ddeE) S OMR SR Wb WU &8 - Rl ol
T-gRaE Bs wem fra B g 96 o v & R ged BT wddt oraar o R @ B w0 T @ AR Bl v A Ak
2 q REF B ghi B AR FE-gfeH FEERt @ T g & 58 ot ¥ Bl R R R A R o aw A g
fram @ R smom

eyt A A, T R el @ - gRas Rl o -G e e 3 wlom & it A R o s
NI, T B W R gy Ride @ re-gRam B e Rram St e & Bl o H 4 el R W e
ST, S o e & wh B oMLK, S O 8 we-gRe s we o ey R @ ael o ol 3
T U g T R o Freel Rrderd wm: ol @t Eell

2 | Tod 9 3 U /3 FOTE SiF BN N W 3 i q 81 R o @ RiT IR T @ SaaisT Bl
Fa-FEs Q 9 AU T SR SavE SN I A SEET Ae ST At A g 1§ HC < e

4. m@@mﬁmﬂm%mﬂmm%ﬁ%m(1)%(4)amaﬂmhamﬂﬁ%|am%ﬁmﬁﬁr!‘nm
w8 /e ¥ SEd ORI @ RY A & oger e Afm e s g § 9 am

5. | SR, o T ¢ 6 F B R /AR A @re O | Rl ofLun.ar st i 9C o @ Tt w9 daw
/a4 ade T A 90 0P IR Ry g I H G A S

6. | sucu WA @t 6 P B A & IR Reeht ywR 1 P anfk wmd @ @ AR

7. | e, wRsE, A, I WA A T I B A N g o Rl A v AR el iR o e e 3 A R
8. ttpa;rdgﬁ?mﬂm#mmﬂmmmﬁmaﬁm.m.mmWﬁé%ﬁwmﬂﬁl’mﬁmwwsﬁ
F #1 agE T 8

9. | qie 41w @ uveiq OfT QO -G o Sat-uRiEl TR o s 4 S gRen 4 g Bl W ot OMR
T R B O A AN QA T At § T B T e

10. T 591 3 R 399 O @ I 0 A0 T QA N I 27 GC 99 A i o el R smem S} A o Her A
mmﬂaﬂﬁhgﬂ:mwm(ﬁﬁaqﬂﬁﬂaﬁ)ﬂ%uMmﬂﬁnﬁtﬁmﬁ%uﬁm%mm

R B S W SR
T B4 B 09

©

www.ErForum.Net www.ErForum.Net

www.ErForum.Net



